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e dianin daall O alaal) Jasg

T=v22 (x=0)

5illal (J) Faa)Y) Amadil) wa (H) Al sanse Joaaill QG ad) agee Josis 104-4
S8l asee e A (F) plicall Jial) gLyl oIS 136 L J<al) G e WS 3
o Aia 2 By Loy Adime Aaulyy Jesd (CD) &S50 Alshand ot ojla)
o s ) (P) 85l caal (ABC) JS&l) Adibiall Alagll cpuall adsall b (IS
2ids (100 1b) 5o S ol Slea Ohs - sall dsas aise (& (C) Llemsal) o Dilglan)

(E) lasll dau sy

> L)<



S
. S R
// N | | 7
Fo S
) (QU’) F4 W@
Wby e
NS —~ \\
30 | 24" 8
:Jad)
4//\_ _E | ) ]
E & tana == ; - a = 14.04
\G My = F5(54 + 25.32) — 100(54) = 0
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T'2 = 302 + 302 — 2(30)(30) cos 140°
~T =5641b

+O XMz =0
—F¢p(3 5in60°) + 56.4(95in40°) = 0

s Fop = 125.51b

YE =0 ; E,+ 1255 — 56.4c0s20° = 0
~E,=-7261b

YF, =0 ; E,— 564 sin20° =0

# E,=19.281b

Fp = ,Exz +E,” =72.62 +19.282 = 75.1 b

Y Mg =0; 125.5(3 5sin60°) — P cos 15° (1) = 0
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c= tazlin" =42.5mm ;

g = 205in20° = 6.84 mm
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CE =50 — 13.68 — 24 = 12.32 mm
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" ﬁ = tan ? = 26.2
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2Mz=0 ; 200(176.3) —Fcosf(24) =0

Fcosff =1469 N, Fsinff =724N
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YM,=0 ; 1469(24 + 13.68) + 724(40c0s20°) — Q cos10°(42.5 — 6.84) —
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Dy = 5.69 N

2 Mp =0 ; Bcos15°(0.065) — 5.89(0.06) — 0.353 =0

~ B=1125N

YE =0: —11.25+ D, + 5.895in15° = 0
D, =973 N

_1[ 65 cos 15° ]

a = tan R —

2254+65sin 15°

s a = 14.55°
Y My =0 ;Fsina(0.225) — 5.69(0.45) = 0
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J+Y M, =0 ;20000(3.95) — 2F, cos @(0.68) + 2F,. sina(2) = 0

" Fyo =48800N 5 48.8KkN

Fuc = PA ; 48800 = p(M)

~ P =6.89(10°)Pa 51 6.89 MPa
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G+ Mz =0 ;—20000(3.5) + Fpz cos B(0.73) + Fpg sinB(0.4) = 0
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i ~ tan—t (%) — 7275
_________ Y = tan =72.7
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J+YX Mg =0 ;—20000(1) 4+ Fgy siny(0.38) + Fgy cosy(0.15) = 0
% Fgy =49 100 N Ll
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8 = tan ! (E) = 5.87°
1.75

_ —1 (009 .
E=tan — ] =10.84
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YE=0

49 100 cos(17.28° + 10.84°) — Fgy cos(5.87° + 10.89°) = 0
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Fey =PA; 45200=P (H0.0952)
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